FERNZ / Components

No. ¥R / Part name #= / Pcs #E / Material & - REAIE / Color-Finish
1 IL—L 4 7ILSIRH 4 A6063S-T5 DIWIR=T LAk, TSVIT LA+
Frame Extruded aluminium A6063S-T5 Silver , Black = Anodized
2 |o—F—7J8vsy 4 ABSHiiE UL94HB SANTL—,T3vY
Corner block ABS UL94HB Light gray , Black
3 21—+ —*+v7 / Blind plug 8 IS5ALY / TPE S48 L—, T5v% / Light gray , Black
4 INAIAFH 2L / Slide panel 1 7 ILEHR / Aluminium A1050P t=1.5 ATSAY)LIN—TF LAk / Silver * Hairline brushed & Anodized
7 JLE4R / Aluminium A1100P t=1.5 T5vY - BE / Black - Painted
BB/ 2 JL / Open—closing panel 1 7 IL2HR / Aluminium A1050P t=2.0 ANTSAUY)LIN—TF LAk / Silver * Hairline brushed & Anodized
7 JLEFR / Aluminium A1050P t=2.0 T5v%Y - ZIE / Black - Painted
SEE/\2EJL / Flat handle 1set HFERH A ¥ Ak / Diecast zinc S JLiN— « ZEEE / Silver * Painted
IS5y « BE / Black * Painted
B> / Hinge 1set FERA € XAk / Diecast zinc S )LiN— « FEEE / Silver - Painted
7594 « BE / Black - Painted
INRILEY1EED / Panel protection pad 6 RLAL T4 TH—L / Polyolefin foam T5wv% / Black
HUAHE R(M4 x 15 FX) 16 E7S =iy nA—h
Screw(M4 - 15 Pan head) Steel Trivalent chromate
6
2
@
3 5
1
7

B EHREIZFERED) / Color Type(End of product numberd)

[TAKACHI) #R&HshFEHIE

\ 6
1
2 v ) 8
L
md/Title

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

Ao rO—IL Ry SR

OPEN-CLOSING CONTROL BOX

o]

55 / Code /\*)P / Panel 71/_A / Freme _:l_j__ / Corner A& 55 /Approved 1% [X|/Checked #[X/Created B /Product number RE/Scale
GS < )LsN— / Silver < JLsN— / Silver 489 L— / Light gray
BS 2 JLsN— / Silver < )JLsN— / Silver 7594/ Black FCW15-40-60NL1] / FCW15-40-60K[]
B X 2 JLiN— / Silver J5v%/ Black 7594/ Black x iR 1/5
BB J5v4/ Black J5v4/ Black J5v%/ Black fERB/Date  2017/07/11




L —L3M8l / Frame3 side

L —L 148l / Framel side

400

< B

114.5
70

S |
3 i
Y |
L o —
A &5 A
o
40.5 )<_ B 295 o
JL—L248] / Frame2 side
> —N
BB/ N\ ILEFZhTi% / Open—closing panel MAX dim. 354
A-A(1:6)

(131)

BE#M~Ti% / MAX dim. 354

INAAFHINRILE TN i% / Slide panel MAX dim. 360

150.4

AH————— TN

JL—LA4A8] / Frame4 side

$1~T3% / Open—closing panel MAX dim. 554

%

BAEA/ SRILE

B-B(1:6)

Bxh~ti% / MAX dim. 144
113.2

BR~ti% / MAX dim. 554

O
ul

$h~t3% / Slide panel MAX dim. 560

%

INAAHFHINRILE

22

C: 7L—LYLKE / Frame cross—section

FwkL—JL / Nut rail
AR FyrRiE )
BFEA T av i RSARF Y FZ-3 # ANDEBHEERFET,
Groove for slide nut
Slide nut FZ-3 (sold separately as optional parts) can be inserted.

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

fn4a/Title
AKX rO—ILRY IR

OPEN-CLOSING CONTOROL BOX

o]

A& 8/ Approved

1% [X|/Checked

£

#IX]/Created

iR

B F /Product number

FCW15-40-60NL] / FCW15-40-60K[]

RFE/Scale
1:6

{EBL B /Date 2017/07/11

2 /5




18.1

18.1

8.7

8.7

19.7

4 13.7
8.2
f'p)
e ™~
< - <
[fep]
©
— 1.8
<
D
5.7 <
=
0 | 10 ~
< N i
9 13.7
M4
22.7
FwkL—JL / Nut rail 3-M3
=

;E

172

172

131.74

JL—.s1 / Framel

JL—L2 / Frame2

mh/Title
TAKACHI) HtaitshFBMTE S—il 2 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Framel, 2
A& 8/ Approved & X]/Checked #[X/Created B /Product number RE/Soale
H150.4-W400 4
E b1 s 5

{EBL B /Date 2017/07/11




18.1

18.1

8.7

8.7

4.05

45

19.7
4 13.7
8.2
~ ~
- h
[fp]
©
- 18
<
D
5.7 <
=
10 ~
~ A
9 13.7
-M4
227
FwkL—JL / Nut rail 3-M3
=

L —.L3 / Frame3

gu
<
™~
™
=
554
l ]
272 272 5
_
JL—.1\4 / Frame4
S
L ]
gu.
-
l ]
fnd/Title
TAKACHI| #XE#ANFEHRITE SL—L3 4 @ |:]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame3, 4
752/ Approved 1% [X|/Checked #IX/Created R /Product number RIE/Scale
H150.4-D600 14
£ T 4 / 5

{EBL B /Date 2017/07/11




BAE/ SR JL / Open—closing panel

RES—MA

Surface protective film side

18.1

NTIAVAME

Hairline brushed direction

371
358 13
3 85 . ARHiE / MAX dim. 347.5
|
-
S|14_ | 24 i
T 1
'9 U
T)
2
(o]
>
0
£
el
= ox| —
° 2| 3 G
~N
#H
+
R
T
N
3
N
1SS
T
8 o
—c]
2-R6
INAAFH VAL / Slide panel
|
|
|
|
|
|
2 |
o |
£ |
el
o Z '
2 E 4—-—-—- H-—-—- |
e} ~ |
#H
Fa |
® |
e |
|
|
|
|
i I
|

Bxh~ti% / MAX dim. 360

3719

@ 1L# (GS, BS, BX) D&
Color type (GS, BS, BX) only

J\FJLZRHE/Panel Frontside

fREES—MMA

Surface protective film side

NT AV AR

Hairline brushed direction

1Lk (GS, BS, BX) D&
Color type (GS, BS, BX) only

J\FJLZKHE/Panel Frontside

1.5

/X7~ )LEEH/Panel Backside

/N7 JLEEHE/Panel Backside

4/ Title
TAKACHI] HARHINFEHRIE AT 7 CO) G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
&R/ Approved 18R /Checked #1[]/Created I /Product number RE/Scale
WA400 - D600 1:6
T iR 5 /5
{YERL B /Date 2017/07/05




